Worksheet for Senior Grade Two(1)                                Xin Qiao Senior High School

The Revison of Non-predicate Verb
Part 1 【知识回顾】
Question: What are these forms (to do ,doing ,done )used for? 
Part 2 【情境感悟】
非谓语动词（to do ,doing ,done）在句子中充当除______以外的各种句子成分,如______，______，______，______，______，______；而在句子中担任______的动词，叫做谓语动词。
Part 3 【课前预习】
Direction:Please get the correct answers by yourselves as quickly as possible.
⒈I really envy those children ______(play) on our schoolyard yesterday.
⒉What do you think of the game ____(play) between class1 and class2 yesterday. 
⒊The bridge_________(build)not long ago requires repairing..
⒋The bridge__________(build)now will be finished in a month.
⒌The bridge__________ (build)next year will bring great convenience to people. 
⒍When _________different cultures, we often pay attention to their differences.
A. compared  B being compared   C. comparing    D. having compared
⒎When ______ why he was late , the boy kept silent.

A asking     B asked       C. ask         D to ask
⒏Finding her car stolen, _______. 

A. a policeman was asked to help       B. the area was searched thoroughly

C. It was looked for everywhere        D. She hurried to a policeman for help 
⒐The man we followed suddenly stopped and looked around as if ________ whether he was in the right direction. 

A.seeing      B.having seen    C. to see      D. to have seen
⒑He went home __________ his old friend George waiting for him.
A.finding   B.to find   C. found       D. Having found 
⒒___________(fail)many times ,he began to work hard.
⒓_______ the result of the examination, he went to the teacher’s office to ask about it.

A. Not having informed of       B. Having not been informed of 

C. Not informing of             D.Not having been informed of 
⒔____ nice and delicious, the fried chicken was soon sold out.
A. Tasted    B. Being tasted    C. Tasting    D. To taste  
Part 4 【要点探究】

FOCUS 1：to do /doing /done 充当定语 
1、What is the difference between doing , done according to sentence 1 and 2 ？

Conclusion:从主被动关系看，⑴doing作定语与所修饰词之间是__________关系,⑵done作定语与所修饰词之间是__________关系。
2、What can you learn in sentence 3.4.5？
Conclusion:从时间看, ⑴to do表__________其被动形式为____________,
⑵doing表_________,其被动形式为____________⑶done表________________ 
3、When do we use –to infinitive as Attributive ? 
Have a try!
⑴He is always the first / the last one __________ (leave) the office. 
⑵You have the ability __________(realize) your dream.
⑶I don’t think he is the best man ________(do)the job.
More Tips   (Remember them!)
⑴在the first , the last 等序数词后; ⑵only, next 或形容词最高级修饰的名词后;
⑶ ability, attempt, chance, courage, decision, effort, right , time 等名词后用______作定语。
4、Practice 
Please translate the following sentences.
⑴他住在一个朝南的房子里。_____________________________________________________.
⑵你改正了老师指出的错误了吗？________________________________________________.
⑶即将举行的会议很重要。_______________________________________________________.
⑷第一个被克隆的哺乳动物（mammal）是Dolly。_____________________________________.
FOCUS 2：to do /doing / done 充当状语
1、What conclusion can you draw from sentence 6 .7and 8 ? 
⑴分词或分词短语作状语时，可以表示时间、原因、结果、条件、伴随等。doing 表________, done 表_______;
⑵作状语时，分词的逻辑主语必须与__________________保持一致；
⑶分词作状语的句子均可转换成相应的状语从句或并列句。
Eg.⑴Asking around, I find many people willing to pay a higher price for environmentally-friendly products.
→When I ask around, I find many people willing to pay a higher price for environmentally-friendly products.

⑵She lay trapped under the building for three days.
→ She lay there and was trapped under the building for three days.
Have a try!
⑴Hearing the news he jumped. (时间)_______________________________________________.
⑵The injured were lying in hospital，suffering from the shock from the traffic accident.（伴随）
_____________________________________________________________________________.
⑶Not given enough time, I had to give up.（原因）______________________________________.
2、In sentence 9, why should we choose ‘to see’ for the correct answer ? 
Conclusion：不定式通常作句子的原因、目的和结果状语，其中作结果状语时，to do 与doing 的区别是：doing 表______________的结果；To do表______________的结果,如10题
FOCUS 3： doing / having done   充当状语
Conclusion：doing作状语所表示的动作与谓语动词所表示的动作___________发生,可转换为‘when sb.do/did sth.’； having done作状语所表示的动作发生在谓语动词所表示的动作之______,可以把状语转换为状语从句 after sb had done sth / sth had been done, 如第__________，_________句。
注意：Being done 或having been done，表示该词的逻辑主语是动作的承受者, 可表示“正在被…”或“已经被…”
Have a try!Please correct the mistakes .
⑴Being not able to go to Beijing, he felt quite blue.        ____________
⑵Repairing at present, the museum is closed to the public.  _____________
⑶Finished his homework, he sat down to watch TV.       _____________
Part 5 【总结特征】   
What are the features you have discovered about these forms ?
1、通常情况下，不定式表示________________，如果是“被动” 但又是“将来”，就用“不定式的被动式”，________________；
2、现在分词表示____________、______________的含义；

3、过去分词表示_______________、_____________的含义；
4、如果是“被动”但又是“进行”，那么就用“现在分词的被动式”______________,“现在分词的被动式”多用作定语。
5、如果是“主动”但又是“完成”，即分词所表示的动作发生在谓语动词所表示的动作之前，那么就用“现在分词的完成式”，______________“现在分词的完成式”多作状语。
Part 6 【理清思路】

What are the steps we should follow when doing these exercises? 
Step1：辨谓语动词与非谓语动词   
Eg. The policeman came up to the only house with the door _____, ____ there for a while and then entered it.     

A. open; to stand    B. opening; stood C. open; stood  D. opened; standing
Step2：理主被动关系   
在确定逻辑主语之后，分析非谓语动词和逻辑主语是主动还是被动关系。
Eg.⑴ Not ________(want)to be late, I took a taxi there.
⑵I’d like to comment on your novel_________(publish) last month.
⑶When he returned ,he found the door ________(break) into.
★Tips:
smell, taste, 等感官动词不能表示_______, 如13 小题。
Step3：看时间关系   根据非谓语自带的时间状语确定时间，语境题要跟据上下文确定时间
⑴The problem____ next is of great importance.
⑵The building____ now is our future classroom.
⑶The problem____ just now is of great importance..
   A. discussed   B. being built  C. to be discussed
Part 7 【你的感悟】
_______________________________________________________________________________________________________________________________________________________________________________________________________________
Part 8【挑战高考】
1. The island,        to the mainland by a bridge, is easy to go to.

        A. joining         B. to join          C. joined     D. having joined
2. It rained heavily in that area, _______ serious floods . 
        A. caused         B. having caused    C. causing    D. to cause 

3. The building ____ in our school is for us teachers. Though there’s noise most of the day, we still feel happy about it.   
A. built    B. having been built    C. to be built    D. being built
4.  _____ in her best suit, the girl tried to make herself ____ at the party.
A. Dressed; noticed     B. Dressing; noticing
C. Dressed; noticing    D. Dressing; noticing
5. Sarah pretended to be cheerful, and _____nothing about the argument.          
A. says             B. said             C. to say         D. saying

6. ______ into English, the sentence was found to have an entirely different word order.

A. Translating          B. Translated     C. To translate       D. Having translated

7. Recently a survey _______ prices of the same goods in two different supermarkets has caused heated debate among citizens.

A．compared        B．comparing       C．compares          D．being compared

8. ______ the programme, they have to stay there for another two weeks.
   A. Not completing                  B. Not completed  

   C. Not having completed         D. Having not completed

9. More TV programs, according to government officials, will be produced _______ people’s concern over food safety. 
A.to raise           B.raising         C.to have raised       D. having raised

10. ________around the Water Cube,we were then taken to see the Bird’s Nest.
   A.Having been shown              B.to be shown   

   C.Having shown                   D.To show
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Wisdom in the mind is better than money in the hand.


